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K=0k<0k>0

u(L,t)=0 1 4 P =0

u(0,t) = F (0)G (t) = 0 F(X)=Acospx+Bsinpx

u(L,t) = F(L)G(t) =0 FO=A=0FL)=BsinpL=0
G(t)=0 wgn .B#0sInpL=0, pL=nxz

G(t)=0 s p=T1,A=0
F(0O)=0,F(L)=0 F (X)=Bsinzx(n=123.....)
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- G (t)=B, cosAt+B sinAt
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u,(x,t) = F,(x)G, (1)

F(x), G(1) L 4

— (B, cos At + B sin At)Bsin - x
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u(x,t) =iun(x,t)

=Y (B, cos A,t+ B, sin A,t)sin nT”x
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u(x,t)=> (B,cos A,t+ B, sin A,t)sin nTsz
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L [sin {oz (x—d)hsm{”(x+d)ﬂ
u(x,t) =41 Zsm{ (x —ct)}+ L Zsm{ (x +ct)}
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u(x,t) = %i sin {0z (x — ct) }+ %i sin {22 (x + ct) }
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